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E–628 

M. A. (Third Semester)  

EXAMINATION, Dec.-Jan., 2020-21 

ECONOMICS 

Paper Fifth 

(Demography) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- 2011 dh tux.kuk ds vuqlkj fdl jkT; esa ‘kgjh tula[;k lokZf/kd 

gS \ 

¼v½ xqtjkr 
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¼c½ egkjk”Vª 

¼l½ iatkc 

¼n½ jktLFkku  

Which of the following states has the maximum urban 

population as per the census 2011 ? 

(a) Gujarat  

(b) Maharashtra  

(c) Punjab 

(d) Rajasthan  

2- tux.kuk 2011 ds vuqlkj xzkeh.k vkSj ‘kgjh fyax vuqikr gS % 

¼v½ 946 vkSj 932 

¼c½ 946 vkSj 929 

¼l½ 939 vkSj 929 

¼n½ 946 vkSj 910 

In 2011 census, the sex ratio in rural and urban areas of the 

country stands : 

(a) 946 and 932 

(b) 946 and 929 

(c) 939 and 929 

(d) 946 and 910 

3- vuqdwyre tula[;k fl)kUr dk lw= gS % 

¼v½ 
A O

M
O

  

¼c½ 
A A

M
O

 

¼l½ 
O A

M
O

 

¼n½ 
O A

M
A
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Formula of optimum population theory is : 

(a) 
A O

M
O

 

(b) 
A A

M
O

 

(c) 
O A

M
O

 

(d) 
O A

M
A

 

4- vuqdwyre tula[;k fl)kUr ds vuqlkj izfr  O;fDr vk; ds 

vf/kdre  gksus dh fLFkfr gS % 

¼v½ tukf/kD; 

¼c½ tukHkko 

¼l½ vuqdwyre tula[;k  

¼n½ mi;qZDr esa ls dksbZ ugha  

According to optimum population theory before maximum 

per capita income situation is : 

(a) More population  

(b) Less population 

(c) Optimum population 

(d) None of the above  
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5- vk;q fof’k”V iztuu nj dk lw= gS % 

¼v½ 
X

X
X

B
I

FP .O
  

¼c½ 
X

X
X

FB
I

P .O
 

¼l½ 
X

X
X

FP
I

B .O
 

¼n½ mi;qZDr esa ls dksbZ ugha  

Formula of age specific fertility rate is :  

(a) X
X

X

B
I

FP .O
 

(b) X
X

X

FB
I

P .O
 

(c) X
X

X

FP
I

B .O
 

(d) None of the above  

6- fyax vuqikr ls D;k vk’k; gS \ 

¼v½ izfr 1000 cPpksa ij o;Ldkas dh la[;k  

¼c½ izfr 1000 iq#”kksa ij efgykvksa dh la[;k  

¼l½ izfr 1000 efgykvksa ij iq#”kksa dh la[;k  

¼n½ mi;qZDr esa ls dksbZ ugha  
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What do you mean by sex ratio ? 

(a) Number of adult per 1000 children  

(b) Number of females per 1000 males  

(c) Number of males per 1000 females  

(d) None of the above  

7- f’k’kq e`R;q nj dks izHkkfor djus okyk izeq[k dkjd gS % 

¼v½ thou Lrj  

¼c½ fpfdRlk lqfo/kk  

¼l½ f’k{kk 

¼n½ mi;qZDr lHkh 

The main factor affecting infant mortality rate is : 

(a) Standard of living  

(b) Medical facilities  

(c) Education  

(d) All of the above  

8- thou rkfydk dk izeq[k mi;ksx D;k gS \ 

¼v½ o.kZukRed mi;ksx 

¼c½ jpukRed mi;ksx 

¼l½ vuqekuksa esa mi;ksx 

¼n½ mi;qZDr lHkh  
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The main use/s of life table is :  

(a) Descriptive uses 

(b) Constructive uses  

(c) Uses in estimates  

(d) All of the above  

9- efgyk l’kDrhdj.k dh jk”Vªh; uhfr dc ykxw dh xbZ gS \ 

¼v½ 20 ekpZ] 2001 

¼c½ 20 ekpZ] 2004 

¼l½ 20 ekpZ] 2009 

¼n½ 20 ekpZ] 2010 

When was the national planning for women empowerment 

started ?  

(a) 20 March, 2001 

(b) 20 March, 2004 

(c) 20 March, 2009 

(d) 20 March, 2010 

10- varjkZ”Vªh; efgyk fnol dc euk;k tkrk gS \ 

¼v½ 8 ekpZ 

¼c½ 9 ekpZ 

¼l½ 10 ekpZ 

¼n½ 5 ekpZ 
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When is International Women’s Day celebrates ? 

(a) 8 March 

(b) 9 March 

(c) 10 March 

(d) 5 March 

11- ^tukafddh* ‘kCn ls xqykMZ us dc ifjfpr djk;k \ 

¼v½ 1853 

¼c½ 1854 

¼l½ 1855 

¼n½ 1856 

When was Guillard introduced word ‘Demography’  ? 

(a) 1853 

(b) 1854 

(c) 1855 

(d) 1856 

12- Hkkjr esa izFke tux.kuk dc vk;ksftr dh xbZ \ 

¼v½ 1870 

¼c½ 1871 

¼l½ 1872 

¼n½ 1873 
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When was first census organised in India ? 

(a) 1870 

(b) 1871 

(c) 1872 

(d) 1873 

13- ;fn ns’k dh tula[;k esa of̀) gks jgh gS] rks bldk vFkZ gS % 

¼v½ NRR > 1 

¼c½ NRR < 1 

¼l½ NRR = 1 

¼n½ mi;qZDr esa ls dksbZ ugha  

If the country’s population is increasing, then it means : 

(a) NRR > 1 

(b) NRR < 1 

(c) NRR = 1 

(d) None of the above  

14- vktknh ds ckn ls Hkkjr esa tula[;k dh izof̀Ÿk dSlh gS \ 

¼v½ c<+rh gqbZ  

¼c½ ?kVrh gqbZ 

¼l½ fLFkj  

¼n½ mi;qZDr esa ls dksbZ ugha  
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What are the trends of fertility in India from independence ? 

(a) Increasing  

(b) Decreasing  

(c) Constant  

(d) None of the above 

15- Hkkjr esa 2011 ds vk¡dM+ksa ds vuqlkj dqy iztuu nj fdruh gS \ 

¼v½ 3-5 

¼c½ 2-5 

¼l½ 2-4 

¼n½ 2-3 

Total fertility rate in India according to 2011 census is :  

(a) 3.5 

(b) 2.5 

(c) 2.4 

(d) 2.3 

16- Hkkjr esa 2011 ds vk¡dM+ksa ds vuqlkj tUe ds le; thou izR;k’kk % 

¼v½ 66-1 

¼c½ 64-6 

¼l½ 67-1 

¼n½ 59-4 
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According to 2011 census in India life expectancy at the time 

of birth is : 

(a) 66.1 

(b) 64.6 

(c) 67.1 

(d) 59.4 

17- v’kksf/kr tUe&nj dk lw= gS % 

¼v½ 
B

CBR 1000
P

  

¼c½ 
P

CBR 1000
B

 

¼l½ 
D

CBR 1000
P

 

¼n½ 
P

CBR 1000
D

 

Formula of crude birth rate is : 

(a) 
B

CBR 1000
P

 

(b) 
P

CBR 1000
B

 

(c) 
D

CBR 1000
P

 

(d) 
P

CBR 1000
D
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18- lh- ih- Cysdj us tukafddh; laØe.k fl)kUr esa fdruh voLFkk crkbZ 

gSa \ 

¼v½ 4 

¼c½ 5 

¼l½ 6 

¼n½ 7 

According to C. P. Blacker in demographic transition theory 

how many stages ?  

(a) 4 

(b) 5 

(c) 6 

(d) 7 

19- MkYVu us vius vuqdwyure tula[;k fl)kUr dks lEcfU/kr fd;k % 

¼v½ jk”Vªh; vk; ls 

¼c½ jk”Vªh; mRiknu ls 

¼l½ izfr O;fDr vk; ls 

¼n½ mi;qZDr esa ls dksbZ ugha  

Dalton related his optimum population theory : 

(a) National income  

(b) National output  

(c) Per capita income  

(d) None of the above 
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20- tula[;k fijkfeM eas D;k iznf’kZr gksrk gS \ 

¼v½ tula[;k  

¼c½ vk;q 

¼l½ f’k{kk 

¼n½ mi;qZDr lHkh 

What represent in population pyramid ?  

(a) Population  

(b) Age 

(c) Education 

(d) All of the above  

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- ns’kkUrj.k vFkok izokl dks ifjHkkf”kr dhft,A 

Define  Migration.  

2- uxjhdj.k ls vki D;k le>rs gSa \ 

What do you mean by Urbanization ?  
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3- thou izR;k’kk dks ifjHkkf”kr dhft,A  

Define life expectancy.  

4- f’k’kq e`R;q nj ls vki D;k le>rs gSa \ 

What do you mean by Infant Mortality Rate ?  

5- eR̀;q nj dks ifjHkkf”kr dhft,A  

Define death rate.  

6- iztuu’khyrk ls D;k vk’k; gS \ 

What do you mean by Fertility ? 

7- efgyk l‘kfDrdj.k ls D;k vk’k; gS \ 

What do you meant by Women Empowerment ?  

8- Hkkjr esa ekrR̀o eR̀;q nj dks ifjHkkf”kr dhft,A 

Define maternal mortality rate in India.  

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A 

 Attempt all questions in 75 words. 

1- thou rkfydk dks le>kb,A  

Explain life tables.  
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2- tula[;k fijkfeM dk fo’ys”k.k dhft,A  

Analyse population pyramids.  

3- tukafddh; laØe.k ls D;k vk’k; gS \ 

What do you mean by Demographic Transition ?  

4- vLoLFkrk ls D;k vk’k; gS \ 

Define Morbidity.  

5- iztuu fofHkUurk dks le>kb,A  

Explain fertility differential.  

6- vkd”kZd dkjd vkSj izR;kd”kZd dkjd dks crkb,A  

Explain pull factors and push factors.  

7- dk;Z lgHkkfxrk nj dks le>kb,A  

Explain work participation rate.  

8- ykWjsat oØ vkSj fxuh xq.kkad dks le>kb,A  

Explain Lorentz curve and Gini coefficient.  

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- vuqdwyre tula[;k fl)kUr dh foospuk dhft,A  

Analyse optimum population theory.  
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vFkok 

(Or) 

tula[;k ds laØe.k fl)kUr dks le>kb,A  

Explain demographic transition theory.  

2- ns’kkUrj.k ds izdkj crkrs gq, mls izHkkfor djus okys rRoksa dh 

foospuk dhft,A  

Write the kinds and factors affecting of migration.  

vFkok 

(Or) 

eR̀;qØe ¼eR̀;q nj½ dks ekius dh fofHkUu fof/k;kas dh foospuk  

dhft,A  

Explain different methods of measurement of mortality.  

3- iztuu’khyrk ds fu/kkZjd rRoksa dh foospuk dhft,A  

Explain determinants of fertility.  

vFkok 

(Or) 

iztuu’khyrk dks ekius dh fofHkUu fof/k;kas dh foospuk  

dhft,A  

Explain different methods of measurement of fertility.  
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4- efgyk l’kfDrdj.k ,oa fu.kZ; esa efgyk dh Hkwfedk ij fucU/k 

fyf[k,A 

Write an essay on women empowerment and women’s role 

in decision-making.  

vFkok 

(Or) 

Hkkjr esa etnwjh nj esa fofHkUurk ds fu/kkZjd rRoksa dh foospuk 

dhft,A  

Explain determinants of wage differentials in India.  
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